2019.04.30

NEEO DS F /A
20198t & {8 Z=2+ 25
DA IXEDAF RS 48
IEERS
= = W=0HAE
Melsioy EETE JIEHE % IE
70.00 30.00 0.00 0.00 100.00
EE BEEE
e =4 = ng
T 1= gl 5
1] 3 1,5 |AND 1 3 99
> 3 5 2 3 o ty—4ay
A
3 4 3 3 4 -5 <z o g
4 | 5 5
5| 5 5 )
== o 20E B BY00
s | 5 2 0.4= 20101, IO} 2 2
7 4 1.4 |AND XS JIdE+2 2Xes 20ICH
8 | 4 1 4 | 4 [pas=o0, U0t 2XE B2 Y002
11
9| 6 3 N
e JI2¥=E42 2= 110|CH
10| 5 2 "
11 E 4 e, M8 JId=2sE= HOICH, 0.180]|C}.
121 5 3
131 5 2 3a+ 502 OFF B= S0l A= CEfAlE 24+800[8 2
14| 6 2 = Ctatalol &2 (3a+5b)+ (2a+8b) = 5a+ 1360 Ct.
15| 5 4 WetAd, A= (5a+13b)—(—a)=6a+13b,
9 6 B= (5a+13b)— (da+2b) = a+ 110,
A+ B=(a+11b)+ (6a+13b) = 7a+24b0|C}l.
AROH S Blle yx2yx(dz—1)=8zy’ —24°0I 4
Ab2temo] 2= %th4y><6y=8y2h0ICF. wo| 2| zAl
6 5 [B M=ot
DRy
Motk h=" 2 _ Lo
8y 4
20HE S22 N5 zct otAL
1500z > 700z + 21000104, £S5412 &0 2|l
5 o 5 GE0Ck
7 5 8
([t S=24= 3 0l&a 0HE M
BAEONAN At= 20| S2I5HCE.

Fl
£
1
02
ol
I
E_|




